Experimental Control Mean Difference Mean Difference

Study or Subgroup Mean SD Total Mean SD Total Weight IV.Random. 95% ClI 1V, Random. 95% Cl
7.1.1CKl

Xu Yang2013 7258 3.44 40 6577 592 45 53.7% 6.81[4.78, 8.84] n
Subtotal (95% Cl) 40 45  53.7% 6.81[4.78, 8.84] \

Heterogeneity: Not applicable
Test for overall effect: Z = 6.57 (P < 0.00001)

7.12 SMI
Zhang Ting2012 501 126 64 462 92 62 46.3%  12.90[9.06, 16.74] u
Subtotal (95% CI) 64 62 463%  12.90[9.06, 16.74] 1

Heterogeneity: Not applicable
Test for overall effect: Z = 6.58 (P < 0.00001)

Total (95% Cl) 104 107 100.0%  9.63[3.68, 15.58] ]
Heterogeneity: Tau? = 16.08; Chi? = 7.54, df = 1 (P = 0.006); I* = 87% ‘ ' ‘ ‘
Test for overall effect: Z = 3.17 (P = 0.002)
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Experimental Control Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight V. Random. 95% CI 1V, Random, 95% Cl
7.2.1CKI
Xu Yang2013 39.72 486 40 31.37 672 45 50.4% 8.35[5.88, 10.82] n
Subtotal (95% CI) 40 45 504%  8.35[5.88,10.82 {

Heterogeneity: Not applicable
Test for overall effect: Z = 6.61 (P < 0.00001)

7.22 SMI
Zhang Ting2012 471 83 64 351 6.2 62 49.6%  12.00[9.45, 14.55] n
Subtotal (95% CI) 64 62 49.6%  12.00[9.45, 14.55] }

Heterogeneity: Not applicable
Test for overall effect: Z = 9.21 (P < 0.00001)

Total (95% Cl) 104 107 100.0% 10.16 [6.58, 13.74] ¢
Heterogeneity: Tau? = 5.02; Chi2 = 4.05, df = 1 (P = 0.04); 12 = 75% ’ ' ’ ’
Test for overall effect: Z = 5.57 (P < 0.00001)
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(b)

Experimental Control Mean Difference Mean Difference
Study or Subgroup  Mean SD Total Mean SD Total Weight 1V, Fixed, 95% Cl IV, Fixed, 95% Cl
7.4.1CKI
Xu Yang2013 39.47 6.27 40 31.94 357 45 41% 7.53[5.32,9.74]
Subtotal (95% CI) 40 45  41% 7.53[5.32,9.74] '
Heterogeneity: Not applicable
Test for overall effect: Z = 6.69 (P < 0.00001)
7.4.2 SMI
Zhang Ting2012 221 14 64 159 12 62 959% 6.20(5.75,6.65] .
Subtotal (95% CI) 64 62 95.9% 6.20[5.75, 6.65] 1
Heterogeneity: Not applicable
Test for overall effect: Z = 26.72 (P < 0.00001)
Total (95% CI) 104 107 100.0% 6.25[5.81, 6.70] . 1 . .

T 1

Heterogeneity: Chi2 = 1.34, df = 1 (P = 0.25); I> = 25%
Test for overall effect: Z = 27.52 (P < 0.00001)
Test for subaroun differences: Chi2 =1.34. df =1 (P = 0.25). 12 = 25.4%
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Supplementary Materials 3: Forest plot of comparison:
(a) CD3+ thymus dependent lymphocytes levels, (b) CD4+ thymus dependent lymphocytes levels, (c) NK
cell levels
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